Quiz 2.3 to 2.5 extra practice.notebook November 08, 2018
Given f(x)=—x’(x-2)*(x+3)
a. ldentify the roots and list their multiplicities.
b. Which of the below graphs would model f(x)?
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Given f(x)=-x’(x-2)*(x+3)

a. ldentify the roots and list their multiplicities.
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Given f(x)=x"(x—2)"(x+3)
a. ldentify the roots and list their multiplicities.

b. Which of the below graphs would model f(x)?
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Given f(x)=x"(x—2)*(x+3)
a. ldentify the roots and list their multiplicities.
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a. ldentify the roots and list their multiplicities.

b. Which of the below graphs would model f(x)?
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Given f(x) = =2(x +1)(x - 2)’
a. ldentify the roots and list their multiplicities.
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b. Which of the below graphs would model f(x)?
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Divide f(x) by d(x) using synthetic division to find the quotient and
remainder.

f(x)=x+4x" +7x-9

d(x)=x+3

Divide f(x) by d(x) using synthetic division to find the quotient and
remainder.

f(x)=2x"=5x" +7x" =3x+1

d(x)=x-3

Divide f(x) by d(x) using synthetic division to find the quotient and
remainder.

f(x)=x"+4x" +7x-9 =4 =4
{ 3 -2 -
d(x)=x+3 DR Y

K+K+d o=

Divide f(x) by d(x) using synthetic division to find the quotient and
remainder.

f(x)=2x"-5x +7x" - 3x+1 ;DDJ 2 -S 77 -3 |
L G 3 30 &
d(x)=x-3 3 | /0 272
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Divide f(x) by d(x) using synthetic division to find the quotient and
remainder.

f(x)=9x" +7x* = 3x

d(x)=x-10

Divide f(x) by d(x) using synthetic division to find the quotient and
remainder.

f(x)=5x" -3x+1

d(x)=x—-4

Divide f(x) by d(x) using synthetic division to find the quotient and
remainder.

f(x)=9x> +7x* - 3x ol a 9 -5 o
{ 90 N0 guwo
d(x)=x-10 g G711 9e7 4w

gy F+aIX+ALT = ALTO

Divide f(x) by d(x) using synthetic division to find the quotient and
remainder.

f(x)=5x" -3x+1 i‘l-l > O O =3 {
V 20 30 320 (26D
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Determine a polynomial of minimum degree with real coefficients that has
roots 1/4, 1 - 2i and a leading coefficient of 2. Write it in standard form.

Determine a polynomial of minimum degree with real coefficients that has
roots 1/4, 1 - 2i and a leading coefficient of 2. Write it in standard form.
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Determine a polynomial of minimum degree with real coefficients that has
roots -1/2, 2 + 3i and a leading coefficient of 4. Write it in standard form.

Determine a polynomial of minimum degree with real coefficients that has
roots -1/2, 2 + 3i and a leading coefficient of 4. Write it in standard form.
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Determine if x + 5is a factor of f(x)=3x> +2x* +x—5

Show your work and explain your answer.

Determine if x - 1 is a factor of f(x)=x"—x"+x-1

Show your work and explain your answer.

Determine if x + 5is a factor of f(x)=3x" +2x* +x—-5

Show your work and explain your answer.
C(-5)= 35 +al-s)y+(-5)-S =-323s

NO ...vevwaincles 15 At O .

Determine if x - 1 is a factor of f(x)=x"—x"+x—1

Show your work and explain your answer.
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Use the Rational Zeros Theorem to write list of potential rational zeros.

f(x)=6x" —5x—1

Use the Rational Zeros Theorem to write list of potential rational zeros.

f(x)=6x*—x —6x" —x—-12

Use the Rational Zeros Theorem to write list of potential rational zeros.
f(x)=6x —5x—1
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Use the Rational Zeros Theorem to write list of potential rational zeros.
f(x)=6x"—x"—6x> —x—12
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Use the Rational Zeros Theorem to write list of potential rational zeros.

f(x)=2x"-x*-9x+9

Use the Rational Zeros Theorem to write list of potential rational zeros.
f(x)=4x> +7x" = x+6

Use the Rational Zeros Theorem to write list of potential rational zeros.
f(x)=2x-x"-9x+9
- 1,39 -_F))-l—} *3 *

44,3
G- hr

+9

+49
) )

vV

Use the Rational Zeros Theorem to write list of potential rational zeros.
f(x)=4x +7x" —x+6
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Given f(-1)=0 , find all remaining zeros of f(x)=x"-2x"-13x-10

Given f(1)=0 |, find all remaining zeros of f(x)= 3x° +4x° —5x-2

Given f(-1)=0 , find all remaining zeros of f(x)= X =2x" -13x-10
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Given f(1)=0 , find all remaining zeros of f(x)= 3x° +4x* —5x -2
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Given f(2)=0 , find all remaining zeros of f(x)= x —3x-2

Given f(3)=0 ,find all remaining zeros of f(x)=2x’-3x’-5x-12

Given f(2)=0 , find all remaining zeros of f(x)= x—3x-2
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Given f(3)=0 ,find all remaining zeros of f(x)=2x"-3x*-5x—12
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Given 4iis a zero of f(x) =x"* +13x* — 48
find all remaining zeros.

Given 4iis a zero of f(x) =x" +13x* —48
find all remaining zeros.
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Given 1-2iisazeroof f(x)=4x"+17x" +14x+65
find all remaining zeros.

Given 1-2iisazeroof f(x)=4x"+17x"+14x+65
find all remaining zeros.
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Determine the end behavior of the function

F(x)=—12x" +x’ +10x”> +8

Determine the end behavior of the function

f(x)=13x"+7x" -10x> + x -3

Determine the end behavior of the function

f(x)x3 +10x” +8
negative odd \

November 08, 2018

lim f(x)= oo

x—>—00

lim £ (x) = o0

Determine the end behavior of the function

f(x)7x3 ~10x* +x-3
postive even U
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